ECE 3510 homework # 13 Due: Thur, 3/23/06 Lo

1. Problem 5.1 (p.136) in the text. Sketch the Bode plots for the following transfer functions. Make sure to label the
graphs, and to give the slopes of the lines in the magnitude plot.
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2. Problem 5.2 (p.137) in the text. by 10
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b) The Bode plots of a system are at right. Give an
estimate of the transfer function of the system. 60 »
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Show your work (how you made your estimate). 1
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60 3. Problem 5.3 (p.138) in the text.
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b) The system will have a transient ring at about 10 rad/sec.

Two poles of the closed loop system will be close to + 10j.

c) Yes, it must be stable. N=0, P=0, Z=0
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